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Dee, 13, 2008 Name:

Math 104/181

Page 9 of 11 pages

siven by

[12] 40 A cell phone supplier has determined that demand for | t cell phone model is
qp + 30p + 50¢ = 8500,

where ¢ is the mumber of cell phones the supplier can sell at a price of p dollars per phone.
You may tind it useful in this problem to know that clasticity of demand is defined to be

E@) =4pf"(p)/ f(p) for the demand function ¢ = f(p).

(2) If the cwrrent price is $150 per phone, will revenue increase or decrease if the price is

lowered shightly?

1([,450):3500—30,9

q= §50°~ J°r
p+s50

dq _

—

“30 ((pise) — £58C4 3OF

—

p+50) 7

Scanned by CamScanner

Answer:

\'7,:_. 1SO
15O (1_,‘ 30 ( S-O)EH‘OC‘

= 8500
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Epl=1 — En= "=

) = q(PeSo)
PoavI0 =gl = P(C\*%Q)”ﬂ !
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(10] 5. In the following figure, the curved graph is a demand curve where ¢ is the demand
and p is the price in dollars. The straight line is the tangent line to this demand curve at

= U
the point (p,q) = (2,6). Recall that the price elasticity of demand is given by e(p) = 2

"'\-v;- L

10 7

. \
‘
i ’ i
9 = ) !

(a) Compute €(2), the elasticity at price $2.

(4]

= a x * 5 2 Answer:
Y Lo ={°? S!v?c
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(b) In ordg wse revenue, should the price be raised or lowered from $27

Answer:

Ri= :
| 7 ineleshe

\Epl £ |
PT R—T

(c) Use elasticity to estimate the percentage change in price from $2 required to result in

a 5% increasc in demand. | é\ C\
p ab = 9 dp

i\

(d) Describe geometrically (in terms of the graph of the demand curve) how you woul
find the price that maximizes the revenue. It might be useful to note that the slope
of a line connecting a point on this demand curve to the origin is q/p. Restrict your
answer to the box below.

Ep = % i
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